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The question paper is in the form of test booklet. All candidates will be assessed on identical questions.
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Read the instructions on the OMR sheet carefully. Use only Ball Point Pen (Black or Blue) for writing /
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A separate OMR answer sheet with carbon impression is provided to all the candidates for answering. On
completion of the test tear the OMR Answer sheet along the perforation mark at the top and handover the
original OMR answer sheet to the invigilator and retain this duplicate copy with you.
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Each objective question is provided with a text and/or figures wherever applicable with muitiple answer
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wd.. HUMAN SPACE FLIGHT CENTRE SET

L 3T ST YT A B wie R A & el 3 o 82
Which one of the following thread parameter is not checked with rin-g gauges? ‘l
(a)  3i&FAT / Pitch (b) U=/ Profile
() efeg @i/ Helix angle (d) 3feFAFT = / Pitch diameter

2. TEHNIR, W, S STagas &1 URLGdl Bt G foraeh gRT & o Tt g ?
The accuracy of micrometres, callipers, dial test indicator can be checked by
(a) @S/ Plug gauge ®) T/ Ring gauge
() iR / Feeler gauge (@ f&Us/ Slip gauge

3.  uo Ui & ud® 3id B 160 feTh B, Y, o0 fvam ured 213 82
If each of the interior angles of a polygon is 160 degrees, it has

(@) 12urd /12 sides (b) 149G/ 14 sides
() 16U / 16 sides (d 18 urwd / 18 sides

4. e d ey iierd & e & el & @ @599 a6 &1 SuanT S o 22
Which of the following curve is used in the development of tooth profiles in gearing?

(a)  SnfAfSas ftia / Archimedean spiral
(b)  SIRYE e / Logarithmic spiral

() Riftisd gfeied / Cylindrical helix

(d) g« &1 ufdeb=w / Involute of circle

5. g W e e gt @
Waviness on surface represents

(a) dg ¥&ar/ Surface roughness

(b)  Fdg §1Ge / Surface texture

() WIIYYH/ Lay

(d) Udg grge W =&l / Roughness over surface texture

TE-05 3 March 2020
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£ 2o, garae & SR § P # F S e 98l 82

Which of the following statement is true about EDM machining?

(a) TS I HOR Idg Pl HYH B bl 2/ It can machine the hardest surface

(b) UE e oT=d! I @ & / It produces high degree of surface finish

© R 3R & F fi= Bl Gudh 7 €1 3 / The tool and work are never in contact with

each other
(d) Sudad g4t/ All of the above

A oA, o et & N002G02G91X40Z40. ..., GO2 T G91 &1 Bl 82

In CNC program block, N002G02G91X40Z40...., GO2 and G91 refer to

(a) dTEd fewn § geeR ¢idavd $R affe f&dR / Circular interpolation in counter
clockwise direction and incremental dimension

(b) dFEd fown # geeR eiqded ¢fR FRUe fa&R / Circular interpolation in counter
clockwise direction and absolute dimension

© chored fRmn § gareR iadwH IR aiffd %R / Circular interpolation in clockwise

direction and incremental dimension
@ cfEuned fxn # gerhR iR $fR FRUa %R / Circular interpolation in clockwise

direction and absolute dimension

At el 9, 5 T T o W WS (3 —————— §R1 S Wil § S In = W

3T, A = AT I ©

In worm gears, the normal lead in a worm having multiple start threads is given by
where In = normal lead, A = lead.

() In=1/cosk () In=1*cosd (9 In=1 (d In=1*tanl

e 7 fr= fem @ sae vora iy 56 S

Shock resistance of steel is increased by adding

(a) @/ Nickel

()  HIffEHE/ Chromium

(¢) f@aasiftrm / Nickel and Chromium

(d) iy, 9 9 BawRY / Sulphur, Lead and Phosphorous

4 March 2020
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10, T[orde o 3 SaTer @ SreT 0.2% W i Bl whgd § | 500 W & Iared H e 3ie ol Hr wiigpd
B
The quality control allows at the most 0.2% defective parts. How many defective
parts can be allowed in a production of 500 parts?

(a 1 ) 2 (e 10 @ 20

11. Rt ysR o g Wid & e & g Rt P 7d B siet s 8, @, T oW T & fog
RERRT Y FIyuTEd & S JaeH ST STar e o 872
Various alloying elements are added to produce different alloy steels, which one of
the following combinations of alloying elements is using for HSS?
(a) wiaw, Aed g AfeeeH / Chromium, Nickel and Molybdenum
() foq Afes T a e / Nickel, Molybdenum and Silicon
(© ®iftraw, §fead g i / Chromium, Vanadium and Manganese
() EEH, 3NfeTH g dmed / Chromium, Vanadium and Tungsten

12. S v MO0” e Hra 3 g 82
In CNC program, the command “M00” means

(@) WIH &1 gEfw / End of program
() fRise o afomad fg2n & gui / Clockwise rotation of spindle
() fo = v ) g &3 / Stop program unconditionally

() Sue H Y BIg o1 / None of the above

13.  9gq dfpd Tae IR Uad Fe @ Ui 1 §aR S $ g Pt # § S ufsar o1 3 fean
Tl 82
Which of the following process is used for preparing parts having large curved
surfaces and thin sections?
(a) @l w=iT/ Hot machining
() T e/ Chemical milling
(©  uaye wEiT/ Ultrasonic machining
(@ sdtum ufsar ECM process

TE-05 5 March 2020
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14.

15.

16.

17.

18.

19.

TE-05

T wid § fbw SR Y Srdd Iea wred g 87
Maraging steel has very high strength due to

(a) ®ERe / Cobalt (b) erEefad / Titanium
()  Fod / Nickel (d) T / Aluminium

U Y ST H1 a6dt SR Sifale Sar HRT: 320 THUH. 3R 200 THUA. § | 31efg s 80 foh =g iR
&1 350 o =ge/en? § | s o feramt TR =fgw?

Outer and Inner diameter of a thrust bearing are 320 mm and 200 mm respectively.
Axial load is 80 kN and pressure is 350 kN/m2. The number of collars required is

(a) 4 b) 5 © 6 @ 9

20+0.05 G & STHaTel! el &1 IR 1 87
What is the type of tolerance given by 20 + 0.05?

(a) XFTfHe/ Running Fit () femf¥e wgd/ Bilateral tolerance
(¢ UsUd® ¥gar/ Unilateral tolerance (d) 3Sudad @t / All of the above

o1 <fere Y ATl e SMTepfal 00l HL A XA 1 I i Sifiiee giell &7

In a shaping machine with mechanical driven ram, the ram speed is maximum

(a) QIO Ei® & 3id W / At the end of the return stroke

(b) FRAES & AHH / In the middle of the cutting stroke

() FAIARD d AdW /At the end of the cutting stroke

(d) HRAED B LEAAH / At beginning of the cutting stroke

s W & ¢hs A 6797 o019 B U DG A F (0T e TIew &1 3 B3 &) Sa<adhal gt 62

For reaming a hole of diameter 6H7 in a steel work piece, the size of drill required is

(a) 6.2 mm (b) 6.0mm () 5.8 mm d) 5.6 mm

3= 1A IR B A dT6 U FHeRe SNeR & forg Aefeiad § 9 S 701 g1 iew?
Which of the following properties are required for a cutting tool working on high

speed?
(a) MR&d $oRar / Red hardness (b) ufvgsu ufeRiy / Wear resistance
(¢  dHegal/ Toughness (d) Swdad i/ All of the above

6 March 2020
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20.

21.

22.

23.

24.

TE-056

R frfire wo @R ) ———— FRER T Wl Ul = I # s, 6 = a9 RIS & fovs
feamsii & o9 &1 S, d = B9 BT A

Vickers Pyramid Number (VPN) is equal to where P =load in kg, 8 = angle
between opposite faces of diamond pyramid, d = diameter of the impression.

(a) 2Psin 6/d? (b) Psin 0/d? (0 (P/2)sin 6/d2 (d) Psin 6/2d?

g 2m + 20+m) = 24 m FT eI HT 82
If 2m + 20+m) = 24 then what is value of m?

(a) O (b) 1/3 () 3 d 6

feperrer &1 U feberp for foa wiram &

Fixtures are used

(@) fefee, uiveded ar 2R wErer! # SUSRY $I uTe 3R Arfex %34 & far / For holding
and guiding the tool in drilling, reaming or tapping operations

)  frfed, arEfEm, wf ar e v | ®rl @ §Hiad & ot / For holding the work in

milling grinding, planning or turning operations

(© &/ @ Ri¥rgd B S &3 & ¢ / To check the accuracy of work piece
(d) SHEHYPE Tl / None of the above

AR F o7 AR TR L1 BT AT ST T Bl 82

The usual ratio of the forward and return stroke in shaper is
@ 2:1 b)) 1:2 © 2:3 d 3:2

o o e feers fora faram s &2

Trepanning is performed for

(2) {3 fed ™ty &1 ga & & T / Finding a drilled hole

(b) T3 famn ue ged W H¥ & ¢ / Producing a large hole without drilling
(¢ ¥4 PI@ud e / Truing a hole for alignment

@) T3 %3S 981 $H & [T / Enlarging a drilled hole

7 March 2020
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25.

26.

27.

28.

29.

TE-05

Tqfer R 7w @ WEfET B W e e H § 91 51 3R W 87

Grinding with a balanced grinding wheel will make it possible to achieve the required
(2) e el & wry fawaria uRgrgdr/ Dimensional accuracy with surface finish

(b)  Had udg A / Surface finish only

(c) TR Wl / Positional tolerance

(d) ea "y &1 de / Pattern of lay

e TR b gRT S S Wehd 87

Internal gears can be made by

(a)  ®i§7/ Hobbing

() fafedT/ Milling

(©) Y oA P Gy Mpfa Eur / Shaping with rack cutter

(@ o sava & 91Y ofdid Ul / Shaping with pinion cutter

- T e R 9 5o & o e A @ e faaRo wiet 82

Which is the correct expression for the unit of feed rate in milling?

(a) mm/rev (b) m/min () mm/sec (d) mm/min

2 fif =, Tiers & Ty 1 Tl Hiex ¥ SPR S TolfHiad 2ie &7 YR (99 2.7 7. /A4t 391 g 82
Weight of Aluminium sheet (density 2.7 gm/cc) of size 1 meter square with 2 mm

thickness is
() 54ke ®) 5.4kg © 0.54ke @ 1kg

wF v fdlied 1 Tae & Tde e &) QRS & e ufegd wax e g1 fan &l 67
A finish cut is given to improve the surface finish of a rough milled workpiece by

(a) PR T, BIS & B B M5 Bl HH Hd §¢ / Decreasing the cutting speed, feed
rate and depth of cut

(b) WIS R, A B! TGRS Bl T §U SR B B Tid BT BH Bd §U / Increasing feed rate,
depth of cut and reducing cutting speed

() TS X, B B TENTs AR HaA BI T @I dg1d §U / Increasing feed rate, depth of cut
and cutting speed

d) HRT B R B TSI L, BIS &R Bk B Texls Bl HH Pd §¢ / Increasing cutting
speed, reducing feed rate and depth of cut

8 March 2020
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30. ue g dy F e sie gkl §
A CNC lathe has the following axes

@ X Y&Z (b) X & Y ura only
(c) X & ZH1= only (d) Y & Zarronly

3l. RIUS T6H & Ueh (@) B gy
Name the factor(s) for chip formation:
(a) Y@ @&/ Rake angle (b) fFadg v/ Clearance angle
(¢)  3OR=UU B / Shear angle (d) Swdad i / All of the above

32. LTI T ¥ @R e B iy XA & R S wed &1 IuaT 351 o 82

Which button is used to activate the automatic operation of a CNC program?

(a) U@ U® / Emergency Stop (b) THUH/ Cycle Stop
() TPHURYH / Cycle Start (d) ¥@greE / Auto

33. dudel sIfgawsuaEIe
The acronym TLO stands for
() c@u™ HEe / Tool Length Offset
(b) Tred oy fimye / Total Length Offset
() TN 3ffhde / Taper Length Offset
(d) TEAE™ AHEe / Time Length Offset

34, el Biae & gE foun fugs T g 82

Head marking on the metric fasteners represent

() =T\ IWE / Ultimate Strength (b) I@mE %/ Yield Strength
() TnHEga¥/ Young’s Modulus (d) FoRrdal / Hardness

TE-05 9 March 2020
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35. ER P I0 BoRal by HH T il 87
Knoop hardness of diamond is of the order of
(a) 1800-2400 () 4000-5000
(c) 7000-8000 (d 9000-10000

36.  M16 x 0.75-4g6g, ©p b ez & 4 o1 veRid &1 82
In the specification of screw M16 x 0.75-4g6g, 4 represents

(a) Hadar/ Tolerance (b) eral ffd / Tolerance position
(0 T ¥s / Tolerance grade (d) 3f&EA g / Pitch diameter

37. R srgurcH fae! guRe g2
Preventive maintenance improves
(a) Ul &I IATGHT / Material productivity
(b) 4H3IdGHdl/ Labour productivity
(¢)  Ustt 3d@rg@ar / Capital productivity
(d)  ©=MF Idgsdl / Machine productivity

38.  T[UIdw U $T x4 §

Quality control is aimed at

(a)  3MUfe TUEET &I RHR 3@ / Maintaining the desired quality
(b)  3Mfé TUEE & UR &1/ Exceeding the desired quality

(©  TuEE ®I fFRaR YURT / Continuously improving quality

(d)  TUracd BT HFERU BT / Following the quality

39. 5 TE PN 180 F | T 3TN ¥ UH O I BT fan e & < 3 155 B ST @ | gerd Wi g
&1 Ul sy

The average of 5 numbers is 180. If one number is removed the average becomes 155.

Find the removed number.

(@ 230 (b) 280 (¢ 310 (d 350

TE-05 10 March 2020
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40.  FRR & bey & e & 9 S 98 Yoy T8 87
Which of the following is not a true relationship for gears?
(a)  T«TPR &FHT x A 3f&HT = pi/ Circular pitch X Diameter pitch = pi
(b)  ATEA = pcd x Y H G/ Module = ped X no. of teeth
() SS€d=1.157 #rsgd / Dedendum = 1.157 module
(d) TSsH=2.157 Areyd / Addendum = 2.157 module

41. fRredsmwrgd e

Grit Number represents

(a) g gAde / Surface texture

(b) WIEYH/ Lay

()  dg gae W F&d / Roughness over surface texture
(d) Suded # Y @I T8l / None of the above

42.  FORIPd AR F SRS WAae B HH X & [0¢ YHTIE: SUgEd d1d SUIR HT UHR 1 8ial 87

To reduce internal stresses of a hardened tool, the method of heat treatment
generally applied is

(a) <mfaT/ Tempering (b) AR / Annealing
()  WrieRu / Stabilizing (d) vEEFERIE / Normalizing

43. MNaa® & TUH Uged od P (¢ ST 70 BT WHRT U F1 I 87

The general ratio of soluble oil to water used as coolant is

(@ 1:10 () 1:20 (© 10:1 d 20:1

44, Mgl I AUH B A 3 AT e [T ST SUeRU T gl 82

The instrument used to measure high temperature in the furnace is

(a) @t / Thermometer () ST/ Calorimeter
()  I«dgAT / Pyrometer (d) dargereHY / Barometer

TE-05 11 March 2020
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45, TR frg O i mEus rfteran w2
Which of the following thread has got the maximum depth?
(a) 9"/ Buttress (b) &/ Square
© aH/Worm (d T/ Acme
46. T A Frum) sifireTr SR T vyl fsan & i T fepan T g7
Which of the following is not included in forming and shaping process?
(a)  WIfelT / Forging (b) SR/ Broaching
() T/ Rolling (@) =fic Biffr / Sheet forming
47, fr= # @ few i 8 wien oo ol wd tas i # o w27
In which types of operation, motion of cutting tool is rotary as well as translating?
(a) Wi/ Planing @) e/ Milling
(¢ <7/ Turning (@ fefem/ Drilling
48.  UH e AR T 8 10 Fbus A 1000 . UM § 1 Ache B @R F &7
A rocket starts from rest and reaches 1000 m in 10 seconds. The acceleration of the
rocket is
(a) 20 m/sec? () 9.81 m/sec? (¢ 10 m/sec? @ 12¢g
49. i wie B wAlid oy fRisa S g g1 82
Lathe spindle supported in head stock belongs to which pair
() gUugTd / Sliding pair (b) dreagma / Rolling pair
(¢) 94 ga / Turning pair (d) Ta®R g / Spherical pair
50.  Ueb HIgehIAICR fohad SRIeR GBIl 67
A micrometre is equal to
(a) 1/1000000 m (b) 1/1000 m
(c) 1/100000 m (d) 1/10000000 m

TE-05 12 March 2020
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51. W ¥ MR & AEereieul &1 3udi i & forg faan wirar 87

Nitriding in steel tools is useful to

(a)
(b)
(©
(d)

A &1 B+ & ol / Reduce cost
gfivgdfur ufeRiy gURA & 1T / Improve wear resistance
Tag e e & o / Improve surface finish

Iudad § & @15 161/ None of the above

52. Y =sinx + cosx—ba. dy/dxT&?
Y =sinx + cosx— 5a. What is dy/dx?

@)

Cosx — sinx () cosx—sinx—5H (c) cOsx—secx (d) sinx—cosx+5

53. IR uardl 1 ufed-e i 9% &l g1 87

Stress-strain curves for brittle materials is

(a)
(e

fgurd / Quadratic (b) @@ / Linear
TR@® / Non-linear (d) Iwdad AV &5 el / None of the above

54, FrerrEd d Q s e 9d® 77

Which of the following statements is most correct?

(a)

(b

(©

(d)

ﬁmwﬁiﬁﬁu@w%ﬁq&%&aﬁﬁwmm%ﬁmﬁamwm
X Tyg et & / Reamers are used to finish holes with accuracies not possible

when a normal drill is used

T SUERY AR TR & I I 3 B F1ed § / Adjustable taps will cut a wide

variety of threaded holes
T SR & 3T SUaR 3R Ui Fl &1 IUTNT {301 o ¥&dl & / Taps and reamers
can both be used without a machine tool

Iuad # A #1 el / None of the above

55. Fraried B @ e 3R e 82

Which of the following statements is not correct?

(a)

(b)

(@

(d)

TE-05

a5, YfeTe o e 0 W 3 et sgran Wit / Work is not moved on a radial arm drill
press

Weaefe fow 0 W Wit Wis Iuee Wd & / Automatic feeds are available on
sensitive drill presses

S5-4ft e 09 &1 9al ug &l 31 U6 € 9% # @ S0 8/ Multi-spindle drill presses
must always drill multiple holes at once

Iydaa B &5 a1 / None of the above

13 March 2020
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57.

58.

59.
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AR T DAy H MO FE $ RY TR BT oY ——— a1 § 96l C = T fuREl,
V = /i § ST 7MY, n = U& suiad], T = 3wk & Hramafy §
Taylor’s relation for calculating tool life is where C = a constant,

V = cutting speed in m/min, n = a constant, T = tool life.
(@ T*Vn=C by V *Tn=C (¢ V*Tes=C (d T*Ve2=C

MR ufvefur &1 gaifdd e arel geT =) TR 8

Primary variable affecting tool wear is

(a) 3R SRt / Tool geometry (b) ®awd uRf&R / Cutting conditions
(¢) Pad W/ Cutting fluid (d) Sudad wt / All of the above

e B @ S fawor dy & aR 7 92l 82

Which of the following statements about lathes is most correct?

(a) S 9@ Pac AFS SBR & gHel &I udHed g / Jaw chucks hold only standard sizes of
pieces

(b) Tigeq o1 gHs! Bl §Iex ¥ UHSdl ¢ / Mandrels hold work pieces from the outside

(©) T oA % HIUA % for AR Sra@ &1 Suant i Wil § / The chasing dial is used for

measuring fine cuts

(@ e Tp IR WIS Uy U F UM EId & / Lead screws and feed rods are lathe parts

.37, So1eal B YW @R &1 50TS 91 gl 82

The unit of linear acceleration in SI units is

(a) feet/sec? (b) m/sec (¢) rad/sec? (d) m/sec?
o A P el g 87

Which of the following is a turning pair?

(@) TN TH 39 & fieq 9 Rifdisy / Piston and cylinder of a reciprocating steam
engine

(b) IR Y P I BRI A THST Bier Ffed 431/ Shaft with collars at both ends fitted in

circular hole
() WY HTTe IRa offe T / Lead screw of a lathe without nut

(d) oo g 9Hide sarse / Ball and socket joint

14 March 2020
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5. mﬁaqﬁgw%mﬁ%wmﬁﬁmﬁm%%qﬁ?m,aﬂtq%ﬁwwaﬁxmwaﬁﬁq@m

srer stma| FRE g % T Ueh © S7TereR IvR S TTeid IR AT S|

All objective type questions carry equal marks of THREE for a correct answer, ZERO for no answer and

MINUS ONE for wrong answer. Multiple answers for a question will be regarded as a wrong answer.
6. wgf?aaﬁra?rar%ﬂﬁtw%ﬁﬁﬂﬁmﬂmg_mgmgfﬁ%ﬁ%mw%,ﬁﬁaﬁ.@.m. Iz W, SEE |

forET qe weel e AREE 21 | T R W, IA-GiRERT 1 gedis Tal (el She|

Question booklets have been marked with A or B or € or D on the right hand top corner, which is mandatory
to be written on the OMR sheet in the box and bubble appropriately, failing which, the answer sheet will not
be evaluated.

yfSeRT # TuCToH STTg P STEIRAT 3 STTER =l i & fore Iwa R S weha 71 v @ e T Qs

Space available in the booklet could be used for rough work, if required. No separate sheet will be provided.

8. suleufy Yz W weer O @ Teat, whenef Hi sufeufy e w gfter wis forgm g whemefl Ft s 7w % weE
£ gEa g

Before signing the attendance sheet, the candidate should write the Booklet Code in the attendance sheet.
Candidates should sign against THEIR names only.

9. W&w%eﬂiﬁﬁ(1)qﬁﬁ%mq%rﬁaaqﬂm%m@a(2)@3%.@.m.3ﬂxvﬁzﬁﬁwaﬁamaﬂéam
forelt oft aftfeufy o arvaeff 58 7 & <)

At the end of the test (1) Written test Call Letters(s) with photograph pasted on it (2) Original OMR Answer
Sheet shall be returned to the Invigilator and shall not be carried by the candidate under any circumstances.
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